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Is there  — uBwH K97 9957 39901 NOUOaw 'LRwn RAPMIRTAT 2793 R3O 0
such a thing that n>y 2w 7707 32 is v»wn and 597 instituted that it is
not v

OVERVIEW

After the mwn was cited that 9977 instituted a 120779, so that 7V Y will not be
vnwn, the X asked that how can this be that %97 went against the 770, »aR
answered that this follows the ruling of °27 that nowadays 2’903 nu Y is only
112777, therefore 99771 could have made this 73pn. The X asked (in reverse), if n
7nn there is no W Ww, how can the 1127 institute 7Y (and exempt the M7 from
paying the mYn his due). »ax responded that it is merely a mwyn X1 2w, therefore
this mpn is permitted. The Xmx then® cites X171 who answered that "2 9po7 is
qo7. There 1s a dispute between *"w7 and MdoIN whether the answer of X217 is
referring to the original question (how could %777 have made a 912019), the view of
"w7; or whether X217 is responding to the second question (how could the 3121
Institute 7V MY), which is NOOIN view.

mooin explains his view that X237 is responding to the second question; not the current question:
— 997 N2 2YNTI 1PN NN )PT A IPONT NIVIP THN VWY X219 ’¥a XY NNYN

X217 did not want to answer now on this question (how could %277 uproot fv°nw),
as he answered later (on the question how could the 7127 reinstitute v »Y) that

PDT 7''92 IPDT and therefore 297 could institute that the M must pay the m>n (regardless that

n"7n he does not owe him anything). The reason 27 did not want to answer this now is -
— 'ROOINT NODY WAV MNPYY HHNY I NI RDT N NOVWPT OIVN

Because X217 had a difficulty, which is that %77 should not have uprooted the
rules of nwyaw which is n''nn —

mooIn anticipates the following difficulty:
=792 PIAR HY XY (o oraam T VRYN TIAR NN T2 N9 TYUN) 29902 192U 2) DY 4N)

And even though the 750 interprets the ?105 of 77> vAwWN AR DR T2 7957 WK

" The word vnwn means to release. The m2n is to release the M from the obligation of repaying the loan.
* See on the '2 Tmy.
? See *"w on the X231 7"7 '2 7.
* Granted that the (%7) 1327 have the power (technically) to make the m> pay, because of Tpoa 7"2 Jpom,
nevertheless in s'X27 view it is inappropriate to uproot the 7710 commandment of 0°903 N (even though it was for
the benefit of society so that people should be willing to loan money).
513 proo.
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(and whatever you have by your brother,’ your hand shall release), that this

excludes that which your brother has in your hand;’ the 190 continues -
— Opv5Yn PN PT 525 1MLV 010 Pawnn Y 1930 119N 19N NI

From this the o°non said if someone lends his friend for collateral or if one
delivers his notes of debt to 7'"52 the rules of u»w do not apply —

mooIn replies:
— ™9 MYYY Mm5Y Napn MYYY 1Y N5N RY BIPNI Yan

Nevertheless %2;7 should not have made such a ;7170 to teach people to do this -
— NN NMHKY D905 NVNYAN 793 HVrYAVY

For in this manner he nullified the mx»n of 2wve> nu»ws which the &=n
commanded."?

ND0IN now cites "W WID:
— N7 N9 IVY ) INP NAYT V99 ©9VMIPD)

And *"w1 explained that X21 is also responding to the first question here (how
could %7 uproot a Xn»X7, and the answer is) that since 757 7"2 701 therefore it is permitted.

mMdoIN responds to an anticipated difficulty: '
—POYUNN HY MYHNINR NIPIY 9901 XY™

® This indicates an unpaid loan; it is yours (he owes you the money), but it is in his (your brother’s [the m?]) hand.
This you are required to release and not collect.
’ This indicates where the payment of the loan is (not anymore in your brother’s hand, but rather) in your hand, as
mDoIN continues to explain citing the *750.
8 The mn has the collateral for the loan in his possession; therefore it is not considered 71X nX 77 77 (in the hand
of the m?) but rather 772 77X %W (in the hands of the m%7).
’ When one is 722 Ymuw 10w it is considered as if 7'3 is holding the loan, so it is not "X NX T2 77 WK, but
rather it is X DX 72 (see 2"» "o Ny aw 'on 2"vA). See 10w 7"7 2,22 °"wA that if he is 7"2% vRVY T0M, the
prohibition of (31 7w " 17T NR) W 82 does not apply since 7"1 is the one who is "W
"1t is evident from this *190 that when the % is 7"2% ¥A1LW oM the rules of 7v»w no longer apply, and the 770
allows for this, so by instituting the 73pn of 2120179 (where he is not actually delivering his mavw to 7"°2, and so it
would not be permitted under the 107 of 772 71X 2w, only through 1po7 7"°2 Tpo7, nevertheless) it should also not
be considered as n°y 2w n7°py for we see that the 7170 allows for the 7w W 70X to be circumvented (either through
7">2% YMvw 0 or through the 1"pn of 9120115 through P57 7">2 7o [See *"19]). See “Thinking it over’.
" The 7n merely allowed that n°y*2w be circumvented through 72 M ww 70Mm7 (which not everyone may be
willing to do), however by enacting the simpler 212019 option, it encourages everyone to circumvent 0.
12 Therefore x21 gave this answer of 7"°2 7p57 on the second question (once we established that 7177 ju12 9VNY is
only 7127771, and the X713 asked), how can the 1127 create a funw, to which &237 replied 7poi7 72 P97 (for we are not
tampering with or nullifying a 7790 commandment).
" According to *"w, since the reason 12019 is effective is [because it is like 727 YmAww 20w where it is
permitted] since P 7"°2 1po; why is it necessary for the »190 to derive the 207 of 7"2% PMvw N0wn from the
7wA7 of RR NR 77 7o WX, when the reason it is 2N is because pPo7 702 Po1.
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For the mwa7 of the 752 from nX nX 7% is mainly referring to a loan for
collateral (which n°v>aw is not vnwn» since it is 772 AR W), but not to PMLY 017 -

1Y PO RIPNRT NIN 9990 151 PT 12 99907 DYVN 1N PMIOY 90T
For the 7n°77 of 7"°2% 1n1Lw 2027 is on account of 227 7''92 2pen and not from
the p109; rather the P12 (of 7nx nX 72)* is merely an xnsnox."

SUMMARY

M5oIN maintains that the 2°»51 would not use the power of 77577 7"*2 7P (which is
vested in them) in order to be Pvan a 71N 12 MEn (of 2°905 NV MY). °"W1 maintains
that the 0> of 7"°2% Yn1MvWY “01 (and subsequently 7120179) is based solely on the
power of P57 7"2 P51 and the 7109 of nX NX 7% is merely an XN>1OXR (in regards
to 727 1°N1vY 100).

THINKING IT OVER
What are the differences'® between 7"°2% »mauw 70117 and 1201192"

4 The 1137, when they ruled that \nunwn Ny aw PR 7"2% Ymivw 1017 (and when they instituted 9120179), wanted to
show that this is not a frivolous use of 7577 7"°2 757, so they used this 2105 to show that there is support to this
ruling (even) in the 77n.
15 If ymuw 90wm: is not N vawn (as the 7w7 of the ™10 seems to indicate), then when 5777 was Jpnn a 9120119, he
was not literally being 7w a n"fn 727 (since it is permitted); the initial question of the X1 would have to be (as
mooin stated previously) how come 9717 taught the people to be 7w a ¥"»n of 0003 nunw. The answer of 7"°2 pon
Ipoi1 does not apply to this question of why he did it (and not how could he do it). Therefore we must say that
according to *"w1 were it not for 7"°2 P57 then PMVY MonT would be RN™MIXTA VAWDY; it is only because of P
7" that 1"m7vw 027 (and therefore 2120119) are not vawn. See (TIR) R"W1n and 7w 2"n.
1 See footnote # 10.
"7 See 7"nx # 270 and n"m.

3

TosfosInEnglish.com



